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Intro

Today we will 7”va learn 75 q7 of 1210 "'on

Some of the topics we will learn about include the following:
The X2 goes into more detail regarding »ax’s explanation of
the opinions of YR» " and 71

--- Regarding 7773,

--- The walls of a N0,

--- and whether death is common or uncommon.

What type of partition is valid and which is invalid

Some laws about pv), divorce documents, and what they can be
written on

How trees can be used as valid walls for a nowo

Some of the key terms and concepts we will learn about
include:

1771 - retroactive declaration. Something can be designated
now based on a retroactive clarification of a choice made later.

AXTH PR M2 DTV AN 53 - A partition that stands because
of breath, is not a valid partition. Since there’s nothing tangible
holding up the 7%'nn, it is not valid.
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. AXOTIN APR IRD M2 TS 121 YR AT 53 - any partition
that cannot withstand a normal wind is not a valid partition. Ifit
sways back and forth from a normal wind, it is not a valid x°mn.
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So let's review...

This Daf continues with the following question:

We've concluded that

AMPPS WM PRD 137

Arnb Wrn RS AN am

However, this seems to be contradicted from the following
well-known Mishnah:

oMo PR P PN -

One who bought a barrel of wine from o’m>, from which he
needs to separate NIwYH NN, but he has no containers in
which to put the mawym mman.

The Mishnah provides the following solution.

T MW NN 71797 W90 TNV IRY P I IR

He verbally separates mawy» mimn within the barrel, and the
wine becomes permitted immediately based on that he will
physically separate out the mawym mman later.

PR 727 - This is the opinion of PR» .

PIOIR YW " or N i 3 - They forbid the wine.

The Gemara’s current understanding is, because they are
TINYPI> W -

They are concerned the barrel might break, and the separation
of mhwym mmn will never take place, resulting in the wine
having been 520 when he drank it. R’ Meir, however,

T NYP WK -

He's not concerned that the barrel will break, but he is wn
anny.

Apparently, their respective opinions seem to be inconsistent?
b wrn PR 39

T NYPRS W RM?

ARb WIN RY AT 1)

I NYPI> wIn?

DafHachaim.org

Ann a9
5)/)'/\//@'/) L’/

N2 29
2o/ Cp

2

apgllphpmtabil npﬁ‘m
buit he has no condainers in which to put the
DYDY PN >

The Mishnah provides the following solution

nynw DY NI i {aRiml
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Apparently, their opinions
seem to be inconsistent
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The Gemara resolves this as follows:

Regarding R’ Meir;

ROV 700

KMV RS 737 NP3

WWT 7 TORT TWOR

I NYpais even less common than 7'y, because it can be
guarded and prevented.

Regarding R’ Yehuda, the Gemara answers;

T NYPad WINT DN IRS

Actually, R’ Yehuda is NOT 11 ny’p25 wrn. The reason the wine
isOR s

777275 57 - He does not agree with the principle of 7972, R?
Y ehuda holds

7772 PR - The separation cannot be valid retroactively. It must
take place before you drink the wine.

However, R’ Meir holds the wine is 1m, because 7772w, The
wine he verbally separated is retroactively considered to be the
same wine he later separated physically, and what he drank was
NOT from the mawy mmn.

The Gemara explains further - that which R’ Y ehuda said;

TIA VP RDW 7T RN

Y97 D90 MW 7T RO

He only means to question R’ Meir - Although you hold 7771w
and the wine is theoretically 9 - aren’t you 71 nypab wrn as
you are 7rvnb wrn? To which R’ Meir responded

A YpWIH -

[ am not 71 ny’pa% w»n because it's extremely uncommon.

The X9 now challenges that which we said earlier

A5 WIM R AT 720

From the first mwn of X non;

MR AT 2T

19 PYPRN DINR TUR R

IMWUR DN RDW

17 1 says that they prepare a second wife for the Kohen
Gadol, in case his wife dies.

The Gemara answers;

7792210V 19Y» -

The Chachamim set a higher standard because of the impor-
tance of the atonement of the day, but 17 7 is actually not w»n
.
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The X3 now returns to the issue of

19105 1917 "vnab IRWY

5019 PR1 317

And refutes the reasons given in the previous Daf;

mnn RPY - it might die, and he will no longer have a partition.
OR,

1920 RHW - it might run away - Based on which this Sukkah
would only be

13279 500 -

And gives two other reasons, which would make it
RIPIIRTD 900

2Py’ 72 RMR 27 says that PR» " holds;

AXTIN PR MI2 DTV AN DI -

Any partition that stands up because of breath is not a partition.
Rashi explains that the main thing keeping up the partition is
something intangible, and that invalidates it as a partition.
Another version of what 2p»’ 91 Xnx 17 said is that x» "7 holds;
AXTIN APR OTR T TP APRY AR 5 -

Any partition that is not man-made is not a partition.

The difference between these versions is if someone used a
mon 71 - an inflated wineskin, as a partition.

According to the first version, it would be Posul, because it's
being supported by the air inside. According to the second

version, it would be Kosher, because it is considered man-made.

The x) next discusses the final section of the Xn»92
introduced earlier, that *>'537 ov 17 said;

DWI0A POV PAND PRAR -

We cannot write a U on a living thing.

His reason is, the ;oo says:

mn™3790 75N -

And he shall write for her a document of divorce on parchment.
790 implies parchment only.

However, 15 2nJ1 teaches that anything that can be written on is
acceptable. If so, why do we need 1907 To teach;

DN IPRI OV 1712 PRY 727 190 0

DN IPRI OV M1 PRY 727 93 R

Parchment is something that is not alive, and is not food, so too,
only things that are not alive and are not food are acceptable to
write a ) upon.
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Inflated wineskin
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The 1127 say that since the word used is just 790 and not 1902 - in
a 190 - it is not referring to the surface of the v, but to
RHY1 0727 N0 - the content of the va.

VINT the WY

79w 12 MI9T MR MR P2 IN10 AW -

Someone who makes his 1210 among the trees and the trees act
as walls, the oo is valid.

The gemora begins...

2PV’ A RAR 27 IOR

IZD M2 TIYD AN APRWY AT 5

AT PR

Any partition that cannot withstand a normal wind is not a valid
partition.

This rule is challenged from our mwmn, because it says you can
make your )10 using trees as a wall and trees, 'nx1 »1Rp, they
sway in the wind, and it should be %100, The X3 answers that
the mwn is talking about stiff trees that do not sway. The
branches won't sway either;

RIOTI R 7P 7T -

Because he supports the tree wall by weaving palm and bay tree
branches into the branches of the tree to keep it from swaying.
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Trees, _
NN DTN - sway in the wind
and it should be )1po?

stiff trees
that do not sway
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' The wirn of the miwn is, that we might have thought there was a
decree against using trees because |2R1 WINWRS TR RS,
perhaps someone will use the tree.

The Rn3 cites other Halachos where trees were used as mx'nn,
and says that there too, it must be ) .
RIOTI R D 7Y - there was a decree a gﬂlﬂ.SZ’ Uusin g trees

because
|DIN2 WIDNWRD DR RHHT

We might have thought
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